
第5章 1.「鋭角の三角比」 第3回

解答
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√
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√
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√
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2
または

√
2
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(8) 1
2

3. (1) 4.7 (2) 8.8

4. (1) cos 38◦ (2) sin 15◦ (3) 1
tan 26◦

解説

1. AB > 0 より，AB =
√
16 = 4
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(1) sinα = BC
AB

=

√
7
4

(2) cosα = AC
AB

= 3
4

(3) tanα = BC
AC

√
7
3

(4) sinβ = AC
AB

= 3
4

(5) cosβ = BC
AB

=

√
7
4

(6) tanβ = AC
BC
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7

2.

√
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√
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3. (1) cos 62◦ = AC
AB

より，
AC = ABcos 62◦ = 10× 0.47 = 4.7

(2) sin 62◦ = BC
AB

より，
BC = ABsin 62◦ = 10× 0.88 = 8.8

4. (1) 38◦ + 52◦ = 90◦ より，
sin 52◦ = cos 38◦

(2) 15◦ + 75◦ = 90◦ より，
cos 75◦ = sin 15◦

(3) 26◦ + 64◦ = 90◦ より，
tan 64◦ = 1

tan 26◦




